Answer Key 14

6.5:3,4,5,10,13,14, 19, 20
6.6:3,4,5,11, 13,14, 15,25
7.1:13-18, 37, 39, 42, 50, 64

6.5

3)

ZC =180’ —(98.4° + 24.6°) =57

sin57"  sin98.6°

x 376
1237697 3189
sin98.6°

4)

Z/C =180° —(37.5° +28.1°) =114.4°

sin114.4"  sin37.5
X 17
sinl114.4°

x=17T——~2543
sin37.5°

5)
40:180"—(52" +70°)=58°

sin58"  sin52°

10)
/B=180" —(100° +30°) =50°

sin50"  sin30"  sin100°

26.7 x 2 BC AB
12267302 481 BC =253 (1305
sin 58’ sin 50°
4B =251199 5 59
sin 50
13) 14)
A 50° A 23°
230 50
68 1100
B C B C

Z/C =180 —(50° +68°)=62°

sin62° sin68"  sin50°
230 AC  BC
sin 6&°
sin 62°
sin 50°

. o

sin 62

AC =230 ~241.5

BC =230 ~199.5

Z/C =180° —(23° +110°):47°

sin47°  sinl10”  sin23
50  AC  BC
sin110°
sin47°
sin 23°

. o

sin4

AC =50 ~ 64.24

BC =50 ~26.71




19)

A 1100

sin110°  sin ZB
28 15

/B=sint| 23O 50000
28

Z/C =180° —(1 10° +30.22°) ~39.78°

~ 28sin39.7%
sinl110°

AB ~19.07

20) Note that this is an SSA problem

sin37°  sinZC
30 40

ZC =sin”! (405;—’(1)37) ~53.36°

/B =180 —(37° + 53.36°) ~89.64°

~ 30sin 89.64"
sin37°

AC ~49.85

But ZB can also be 180° —53.36" =126.64"

Z/C=180° —(37° +126.64°) =16.36°

D= 30sin16.53"

' ~14.04
sin37°

Note: the angles and lengths below are inaccurate in the last decimal and the lengths are

1/10th the problems values

%A m/BAC = 37.00°

S 5 mABC = 89.47° m./DBA =16.53°
my/BCA = 53.53° m/ADB = 126.47°
m BA =4.00 cm
mBC = 2.99 cm
’ m CA = 4.97 cm m DA = 1.41 cm




6.6

3)

x> =217 +42%-2.21-42¢cos39°

x =212 4422 —2.21-42¢c0s39° ~
28.88

4)

x> =15+18>-2-15-18¢cos108°
x=+15+18*-2-15-18¢c0s108° ~
26.76

5)

x* =25 425 -2.25-25¢c0s140°

x =257 +25*—2.25.25c0s140° ~
46.98

11)

AB =+10> +18% —=2-10-18cos120° =
V424 +180 =/604 ~ 24.58

sin120° B sin ZA

J604 18
A =sin- | 1881207 ) 26 37
J604

/B=180" —(120° +39.37°) ~20.63°

13)
c=~/32+4>—2.3.4c0853 ~3.25
sin53° B sin ZA

3.25 3
3sin53°

/A=sin"" ( j ~ 47.49°

/B =180 —(53° + 47.49°) ~79.51

14)

a=~60%+30>—2-60-30c0s 70° ~ 57.17

sin70"  sin /B

5717 60

60sin 70°
57.17

Z/C =180 —(70° +8o.47°) ~49.53

/B =sin"" ( J ~ 8047

15)
20% =257 +22% —2-25-22cos ZA

A= cos” 207 —25%-22°
-2.25-22

252207 -22°
-2.20-22

/B =180 —(49.87° + 72.88") ~57.25°

jz 49.87°

/B =cos” ( j ~72.88°

25)
sind sin38
138 110

g =sin- | 133538 | <057
110




7.1

13) 14)
sin x CcOS X
sin xsec x COS XSEC X sin x
_ COSX _ = LOSX _1. = tan x
tan x Smx cotx Cos x COS X
Ccos X sin x
15) 16)
sint+tant _ sint 1= cost+1 +cosA
tant  sint l+cotd " ging sinA+cosd sind
cost csc A 1 sin A 1
sin 4
sin 4 +cos 4
17) 18)
3 s 2 _ 2 : 2 _ L 4 2,
cos’ x +sin xcosx—cosx(cos X +sin x)_ sin*a—cos” a+cos” a =
COS X (sin2 a —cos’ 05)(sin2 a +cos’ a) +cos’ a =
sin® @ —cos® @ + cos” @ =sin” &
37)
cos(—x)—sin(—x) = cos(x)+sin(x)
cos(—x)=cos(x) -> even function property
sin(—x) =—sin(x) -> odd function property
cos(—x)—sin(—x) = cos(x)+ ~sin(x)-> substitution
cos(x)+ ~sin(x)=cos(x)—sin(x) -> additive inverse
39) 42)
tan @ +cot @ =secHcscl cosx sinx .
=+ =
sind cosé SecCx CSCX
tan @ +cotd = —— = . i
cos sind COSX SINX _ COSX sinx
sin’ @+cos’ @ 1 secx cscx 1/cosx 1/sinx
: = ——=secHcscl 5 .
cos@sin @ cos@sind cos“ x+sin“ x=1
50) 64)
24 6ot — 2 2 sinx+cosx .
cot“t—cos ¢ (cot t)(cos t) — Sin xcos x
5 secx+cscx
) ,  COS 5 i )
cot”t—cos’t=————Cos t = sinx+cosx  sinx+cosx
s~ 1 N 1 sin x+cos x
1 . :
( ——1 cos’t = cosx sinx sin x cos x
sin” . sinxcosx .
- s (sinx+ cosx)———— =sinxcosx
I—sin” ¢ ) st ) sin x +cos x
— 5 |cosTI=| —— 0s t =
sin” ¢ sin” ¢
(cot2 t)(cos2 t)




